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Section Id : 2549896822
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 52

Number of Questions to be attempted : 52

Section Marks : 52

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Response :  Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549896863
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 2549896253 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A place that a user can create to store files in a Windows system is called a
Options :

1. ¥ cursor

2. & text

3. % folder

4. # boot

Question Number : 1 Question Id : 2549896253 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

THh I, SR ST Windows ([FSTe)) Red § PRACR A & MU ST IS 6, 39 Fed gl
Options :

1. % P

2. ® TR

3. ¥ TIeeY

4. & 9c

Question Number : 2 Question Id : 2549896383 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A is used to organise information into an easy-to-read format of rows and columns.
Options :

1. % Paragraph

2. # Picture

3. # Box

4. v Table

Question Number : 2 Question Id : 2549896383 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

e P TEBRI BT T T U S arent Ufdad! 3R Wl & U & afyd 4 & fore IugiT fsar siar g1

Options :

1. ® Paragraph (317:1%_@)
2. % Picture ()
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3. % Box (f&sa)
4. " Table (TfcTehT)

Question Number : 3 Question Id : 2549897554 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is an Internal memory of computer?
Options :

1. # Floppy Disk

2. # Pen Drives

3. % RAM

4. % CD and DVD

Question Number : 3 Question Id : 2549897554 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

‘é"lal'ﬁ?ﬁ:f oiouica P SAND AART (Internal memory) %‘?
Options :

1. % T f&h

2. # U7 grsd

3.« Trefwsd ST Hfd (RAM)

4 & W IRSAI

Question Number : 4 Question Id : 2549897689 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Which of following number systems uses letters, such A, B, C, D, E, F, to denote the numbers.
Options :

1. = Binary

2. # Decimal

3. # Octal

4. % Hexadecimal

Question Number : 4 Question Id : 2549897689 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

frafiiad & 3 oiH- T e yomeh Semsl o1 G & T $farl, S A, B, C, D, E, F &1 SUART &1 5|
Options :

1. ® SRt

2. % SHUWHA

3. # 3ffaed

4. « SRITSRAA

Question Number : 5 Question Id : 2549897799 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
Which language was used as First Generation Language?
Options :
1. % Machine Language
2. # Assembly Language
3. % C language
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4. # Java

Question Number : 5 Question Id : 2549897799 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Ugdl Ulgl & HTT & =0 | 9 § T fordent IuanT fovan mar 4
Options :

1. o H H1eT

2. % SR HIST

3. ® CHIHT

4. = Java

Question Number : 6 Question Id : 2549897889 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
is a data that exceeds the processing capacity of conventional database systems.
Options :
1. %" Big data
2. ¥ Small data
3. # Defined data

4. ¥ Summary data

Question Number : 6 Question Id : 2549897889 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

~ Jg 3t o WRETd SeTay e & UReuT &9dT I UR Tl Sl ¢ |
Options :

1.« fa Ser (Big data)

2. % WA ST (Small data)

3. % gRYIYT ST (Defined data)

4, % 9RIR éET(Summary data)

Question Number : 7 Question Id : 2549898397 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Which of the following function returns the prorated linear depreciation of an asset for each accounting period in MS Excel?
Options :

1. = ACOS function

2. % AMORLINC function

3. ¥ MORLINCA function

4. = AMORDEG function

Question Number : 7 Question Id : 2549898397 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

MS Excel & U oraT 3iafer & forg fufafad & 9 &1 91 trar farddt aReufy & ugd & duR 8% Jeug dlerd 82
Options :

1. # ACOS BhaRM

2. % AMORLINC haRH

3. % MORLINCA THha=H
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4. % AMORDEG Hha=H

Question Number : 8 Question Id : 2549898694 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Magnetic Tape is an example of storage.
Options :

1. = primary

2. # random

3. % sequential

4. & optical

Question Number : 8 Question Id : 2549898694 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
MWeHT_ WRS SIS I gl
Options :

1. % T (TS

2. % ¥SH

3. ' Hit® (Rreh=ran)

4. % 3PP

Question Number : 9 Question Id : 2549899313 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Computer hardware unit that adds two or more numbers is
Options :

1. # the control unit

2. % arithmetic logic unit

3. % an internal CPU register

4. % RAM

Question Number : 9 Question Id : 2549899313 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
U GISam HTS Sl &) AT 31 Gemail Bl Siiedl |
Options :

1. = Eh_UaFT?Iﬁ_C' (control unit)

2. W &ﬁ@%@ﬂm{ﬁ? (arithmetic logic unit)

3. # goAd ?ﬁtﬁq\ IR (internal CPU register)

4, ® RAM

Question Number : 10 Question Id : 2549899334 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

is a way of making a computer, a computer-controlled robot, or a software think intelligently, in the similar manner the
intelligent humans think.

Options :

1. % Artificial Intelligence
2. # Electronics

3. ¥ Advanced
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4. ® Machine

Question Number : 10 Question Id : 2549899334 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
T HYR, SR (M Aslle, 71 141 b WUITR S BT e & Sl gfHaTgdes el 8, 31 I 7R o fob
SfeHH g g B

2. % AaCiHaT
3. # Tedie
4. % AR

Question Number : 11 Question Id : 25498910949 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Which of the following is the most commonly overclocked component of a computer?
Options :

1. % DRAM

2. % SRAM

3. # SDRAM

4. % CPU

Question Number : 11 Question Id : 25498910949 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

FofRad & § oF SR &1 9a9 i siiaradie fal S aTdl 9 8?2
Options :

1. % DRAM

2. # SRAM

3. ® SDRAM

4. % CPU

Question Number : 12 Question Id : 25498929723 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Choose the INCORRECT statement from the following about Multi-booting:

Options :

1. # Multi-booting is also useful in situations where different software require different operating systems
2. # Multi-booting allows more than one operating system to reside on one computer

3. % Multi-booting allows a new operating system to configure all applications needed and migrate data before removing the old
operating system

4. % Having multi boot on one machine is a way to increase hardware costs

Question Number : 12 Question Id : 25498929723 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

frafiiad & 9 Iedl-gfeT & IR H Tad Sy 9Tl

Options :

1. % Aee-gfen 37 fRufaat & oft Iuahh § STgt 1enT- ofenT Ateddr & o SIeHT- e SIRfET R &t sTaxadhdT gl g |
2. % OCl-geT Uh  Sfieh STRfET Ried &1 Udh Her R I8 &1 AR T 5|
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3. % Heel-§(ST U U TR Ried &1 R TR Ried &1 g ¥ ugd sawad Guft U= &1 B R ax 3R
ST RIMIARU 63 B A ST 8|
4. Uo TR R Tt g T §TS IR AT 9T 1 Uh aRidT 3|

Question Number : 13 Question Id : 25498929887 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks :
Bar Code Reader is a/an device.
Options :

1. = output

2. % input

3. # VDU

4. ¥ print

Question Number : 13 Question Id : 25498929887 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
RIPeIRTE  fEamag
Options :

1. = 3{3cYc

2. %' %TYC

3. = VDU

4 % e

Question Number : 14 Question Id : 25498933090 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What is the Hexadecimal equivalent of the given Binary Number?

(110110),=(__ 7 )¢
Options :

1. %32

2. % 36

3. % 30

4. & 35

Question Number : 14 Question Id : 25498933090 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

13 & TS SR TRe ) THded TS RITd ST ST 82
(110110, = (2 )i

Options :
1. ¥ 32
2. % 36
3. %30
4, ® 35

Question Number : 15 Question Id : 25498934234 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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What is the value of the following MS-Excel function?

=FLOOR(97,14)
Options :

1. %6

2. % 84

3. %98

4. &7

Question Number : 15 Question Id : 25498934234 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
FTTIRIT MS-Excel TraRTH &1 A &1 82

=FLOOR(97,14)
Options :

1. %6

2. % 84

3. % 98

4. =7

Question Number : 16 Question Id : 2549898159 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Tt HIeR TR 1 SUTNTHd! & U a8 Al 31 Hedmd & ol 39 38, Jge, ANSHTE, fEeiie d- 3ar HIeR &
e hTga o TR HA; HIBTRRA a1 AfET o uRad o3; 1 Tl Pl Siie= a1 ge &t ST Te HRad 82
Options :

1. % Ode sy

2. # Ui e gy

3. % SRR ZCH

4.« TRIG 13CY

Question Number : 16 Question Id : 2549898159 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

What are the permissions an individual user or a computer application holds to read, write, modify, delete or otherwise access a
computer file; change configurations or settings, or add or remove applications called?

Options :

1. ¥ Patent Rights

2. # Publication Rights
3. ¥ Author Rights

4. % Access Rights

Question Number : 17 Question Id : 2549898219 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

; Teh U7 AT g Sl &GT 3 & 3¢ A T MHIR TR fhat 3R T U1 U1 & 3¢ A U APhait T8 UNbTsd §=Idl
|
Options :

1. % g
2. % WR
3. ' BHelthyl

8/41



11/11/2022, 09:59

4. % TS

Question Number : 17 Question Id : 2549898219 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A(n) is a person who creates a fake online profile with the intention of deceiving or usually to get money out of someone
else.

Options :

1. = Hacker
2. % Spammer
3. % Catfish
4. % Admin

Question Number : 18 Question Id : 2549899610 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

fEetie ford e € Aew graTa: fr wiceR B SuRRd gld &
Options :

1. ® S

2.4 Y

3. % WA
4. % ZUC

Question Number : 18 Question Id : 2549899610 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following folders is used in general to store deleted emails?
Options :

1. # Junk

2. % Trash

3. % Spam

4. % Draft

Question Number : 19 Question Id : 25498910777 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Linux / Unix OS ¥, BT3d WaeR H fifer &gl IR g1 Tl 82
Options :

1. = Jetc

2. % /dev

3. % /lib

4. ¥ /printer

Question Number : 19 Question Id : 25498910777 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Where can one find the printer in the file structure in Linux/Unix OS?
Options :

1. & Jetc

2. % /dev

3. # /lib
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4. % /printer

Question Number : 20 Question Id : 25498911220 Question Type : MCQ Option Shuffling : Yes Display Question Number :

Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks :
Sound cards, microphones, headphones, and speakers (built-in or external) with reference to computer system are examples of

Options :

1. # network devices

2. % recording and playback devices
3. ¥ mixing devices

4. % memory devices

Question Number : 20 Question Id : 25498911220 Question Type : MCQ Option Shuffling : Yes Display Question Number :

Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

FHR ReH & o T ArEs F18, AP, S iR T (o34 a1 918d) EaRTARFUR
Options :

1. % Jcad fgagy

2. o RPIET 3R W farzg

3. % e fgaey

4. % TR} fearsy

Question Number : 21 Question Id : 25498913430 Question Type : MCQ Option Shuffling : Yes Display Question Number :

Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

In video compression, an independent frame that is NOT related to other frame is called as .

Options :

1. ¥ B-frame

2. # P-frame

3. % [-frame

4. # C-frame

Question Number : 21 Question Id : 25498913430 Question Type : MCQ Option Shuffling : Yes Display Question Number :

Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Jifsa TdisT &, v Wd A o 3 Y Y Tea T8I 838 PpeISargl
Options :

1. ®% BIpH

2. % pIBH

3. % 1.TpH

4. % CTpH

Question Number : 22 Question Id : 25498918476 Question Type : MCQ Option Shuffling : Yes Display Question Number :

Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks :

fifex &1 aRE BT UH IuSR ], o &9 o ) BTUA Y G U a1 g
Options :
1. % Bag
2. % W
3. % TR
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4. % FHITETR

Question Number : 22 Question Id : 25498918476 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

The is like a printer, but allows you to print large images.
Options :

1. # fax

2. W plotter

3. ¥ scanner

4. % synthesizer

Question Number : 23 Question Id : 25498918557 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ST 319 Windows OS S¥Tdd GG %, @ “Drive Letter’ ORTHICI BT fSwice A T Eﬁ?ﬂ %?
Options :

1. % C

2. %D

3.%A

4. ® B

Question Number : 23 Question Id : 25498918557 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the default value of ‘Drive Letter’ parameter, when you install Windows OS?
Options :

1.¥C

2.%D

3.%A

4. 4B

Question Number : 24 Question Id : 25498919286 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A bridge is a network-based interface device that connects two working on the same protocol.
Options :

1. %" LANs

2. % MANs

3. % WANs

4. % PANs

Question Number : 24 Question Id : 25498919286 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fSIoT U eadh-SeTRd $exthd fSaTgd § Sl U o Uicidid R HIH R I@ & DI NS5
Options :

1. % LANs

2. % MANs

3. % WANs

4. %= PANs
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Question Number : 25 Question Id : 25498919322 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TSR | 1 <& WieH & oY H1-91S Ricde 71 g?
Options :

l. = Ctrl+B

2.9 Ctrl + T

3. % Ctrl+ D

4. % Cul+ N

Question Number : 25 Question Id : 25498919322 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Which of the following keyboard shortcuts will open a new tab in a browser?
Options :

l. % Cul+B

2.9 Ctrl + T

3. % Ctrl+ D

4. ® Ctrl +N

Question Number : 26 Question Id : 25498919384 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

gee 3t gffed # O 98 S I TR a1 § S §exe SuaiTamais & gexqe 3 gg fhdt ot duer W Sl g o
I B Bt AT UG FHRal 8?2

Options :

1. ' STIAT CalthIt

2. # S TR

3. % e RA e

4. % g

Question Number : 26 Question Id : 25498919384 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Which of the following communication services of the internet allows the internet users to talk across the internet to any PC
equipped to receive the call?

Options :

1. % Internet Telephony
2. # Instant Messaging

3. # Internet Relay Chat

4. # Newsgroup

Question Number : 27 Question Id : 25498920713 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which IP addresses are kept reserved for future use or reserved for experimental purposes such as R&D or Study?
Options :

1. ¥ 128.1.0.1 to 191.255.255.254

2. % 192.0.1.1 to 223.255.254.254

3. % 224.0.0.0 to 239.255.255.254
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4. % 240.0.0.0 to 255.255.255.254

Question Number : 27 Question Id : 25498920713 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

DI Y 3MMSU Td (IP Addresses) HfaT® & IUUNT & T SREd T S1d € I1 YA Ie2a! oY 31R TS 1 a1 31e59+ & forg
SIRIE B &2

Options :

1. % 128.1.0.1 ¥ 191.255.255.254

2. ®192.0.1.1 §223.255.254.254

3. % 224.0.0.0 § 239.255.255.254

4. % 240.0.0.0 T 255.255.255.254

Question Number : 28 Question Id : 25498922682 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

e T 3reTiie T8 Y I8 ©, d 1 JHW 8 abell 82

Options :

1. " IS WIHc & Ugar & o Sger o axgd U S%Td e g
2. % T8 &% 3 A 10 T8 R W B

3. % BT3A ¥ Sl AfFe’ B RIHIIRd 781 81 W18

4. % YA H gHT §) I B

Question Number : 28 Question Id : 25498922682 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
If email attachments do NOT open, what could be the issue?
Options :

1. %" The computer doesn't have the necessary program installed to recognise the file format.

N

The hard disk might not be functioning properly.
The data from the file is not getting transferred to the monitor.

w
E B B

bl

There is a problem with the cache memory.

Question Number : 29 Question Id : 25498924440 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
Which of the given binary format is supported by Linux operating system?
Options :

®

a.out only

.

B B

elf only

(98

a.in only
" Both a.out & elf

>
&

Question Number : 29 Question Id : 25498924440 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

U 7T 13 wide 7 A 5 e simfen R & gRT quié firerar 82
Options :

1. % Had a.out

2. % Had elf

3. % $Hdd a.in
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4. % Both a.out & elf

Question Number : 30 Question Id : 25498925364 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

With reference to Computers, what is hibernation?

Options :

1. % Shutting down the computer.

2. # Putting the computer in hybrid mode.

3. %" Powering down the computer by retaining its current state.

4. # Powering down the computer without retaining its current state.

Question Number : 30 Question Id : 25498925364 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

HUeR P GoH §, grEeraT | R?

Options :

1. % PHECR BT CSS gHI

2. # YR B gIRfos HIS | ST

3.+ 3! faggaurT fRufa & fafa Taer dgex @1 faggq smafd &0 &=l
4. % ! faggayry Rufa &1 afd fard fom dgex &t faggq smfd &8 &

Question Number : 31 Question Id : 2549896453 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The section to the right of the last dot in a domain name is the

Options :

1. ¥ name
IP address

Web server

B oK B

2
3.
4

&

" Top-Level Domain

Question Number : 31 Question Id : 2549896453 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

ST A ifar foig () P g IR BT SgUT R
Options :

1. %A1

2. % 3TSUT ISy

3. % 9§ IR

4.+ T9 9d S

Question Number : 32 Question Id : 2549896523 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Which one of the following web browsers is developed by Microsoft?
Options :

1. % Internet explorer

2. # Mozilla

3. ¥ Netscape navigator
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4. ® Lynx

Question Number : 32 Question Id : 2549896523 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

g & ¥ P19 91 39 TSR AISshIAUe gRT fasid frar man g2

Options :

1.

2
3.
4

Question Number : 33 Question Id : 2549896540 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

o

E E B

" Internet explorer
Mozilla
Netscape navigator

Lynx

Correct Marks : 1 Wrong Marks : 0
Which of the following is the correct full form of MIME?
Options :

1. # Multipoint Internet Mail Extensions

2. %® Multimedia Interface Mail Extensions

3. % Multipoint Interface Mail Extensions

4. %" Multipurpose Internet Mail Extensions

Question Number : 33 Question Id : 2549896540 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MIME 1 a1 =0 &1 82
Options :

1. # QRQTCIUE_C' 3 e 7 Q@%’-‘ZF\ET (Multipoint Internet Mail Extensions)

2.
3.
4.

Question Number : 34 Question Id : 2549897039 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

#® A HIfsT W Ad QTJR:I%Q'FH (Multimedia Interface Mail Extensions)

# Oedluise Sehy Ud URICI (Multipoint Interface Mail Extensions)
¢ T IgU Q'EQ'?lE o QH;H%QFH (Multipurpose Internet Mail Extensions)

Correct Marks : 1 Wrong Marks : 0

is a communication technology used by some incoming mail servers.

Options :

1.

2
3.
4

Question Number : 34 Question Id : 2549897039 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

%
-
-
. -
-
-

. W

Telnet
TCP
FTP

" POP3

Correct Marks : 1 Wrong Marks : 0
TS 3T A YR GRT IUINT B S aTelt T YaR b1 o |

Options :

1.

2
3.
4

-
-
-
. ™
o
E

.

Telnet

TCP

FTP
"POP3
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Question Number : 35 Question Id : 2549897371 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Which of the following tabs is used to add a new comment in MS Word 2016?
Options :

1. ¥ Page layout

2. # Reference

3. ¥ Layout

4. % Review

Question Number : 35 Question Id : 2549897371 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

MS Word 2016 ¥, 310 7 & ¥ for 29 &1 STUNT dab U =18 fewult (dHe) SiS Ihd 82
Options :

1. % U9 def3e

2. ® P

3. ® 3T

4. @Ry

Question Number : 36 Question Id : 2549897477 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks :

In MS PowerPoint, when a task pane is active, press and to select the next or previous option in the task pane,
respectively.

Options :

1. ¥ ENTER, ALT+TAB
2. %" TAB, SHIFT+TAB
3. # CLTR+TAB, ENTER
4. ¥ HOME+TAB, TAB

Question Number : 36 Question Id : 2549897477 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS PowerPoint &, 518 $Is BT el Afehd BidT &, Al SHHRT: BT et B 3ATS 1 s d faded o1 9o o & forg
3R gam|

Options :

1. ¥ ENTER, ALT+TAB

2. % TAB, SHIFT+TAB

3. ¥ CLTR+TAB, ENTER

4. % HOME+TAB, TAB

Question Number : 37 Question Id : 2549897484 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the key combination to stop media playback in MS PowerPoint?
Options :

1. % ALT+M

2.9 ALT+Q

3. ® ALTHS
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4. = ALT+T

Question Number : 37 Question Id : 2549897484 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

MS PowerPointﬁW@%ﬁW%%ﬂﬁWW%?
Options :

1. % ALT+M

2. % ALT+Q

3. % ALTHS

4. % ALT+T

Question Number : 38 Question Id : 2549898040 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Bar chart arranged from highest to lowest incidence is known as:
Options :

1. % Pareto chart

2. # Conic chart

3. ¥ Scatter chart

4. & Stock chart

Question Number : 38 Question Id : 2549898040 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I A Y TR A IaRAERIE B Fed gl
Options :

1. QeI a1e

2. % B AT

3. % Whex AIC

4, % K ATe

Question Number : 39 Question Id : 2549898062 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
chart stacks a bar that shows different groups on top of each other in MS Excel.
Options :
1. % Stacked bar
2. # Line
3. # Radar
4. # Pie

Question Number : 39 Question Id : 2549898062 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

_ O1e, U IR B A BT § Sl MS Excel H Th gHR & SR faftd gl &) uelRfd #xd 3|
Options :

1. ' WP IR

2. &g

3. ISR

4, ® U
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Question Number : 40 Question Id : 2549898082 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following events are in the right order to Print a chart on a full page in MS Excel?
Options :

1. # Click the chart > Move chart > Chart Design > New Sheet > Save > Print

Chart Design > Click the chart > Move chart > New Sheet > Save > Print

Click the chart > Chart Design > Move chart > New Sheet > Save > Print

Chart Design > Move chart > New Sheet > Print > Save

B B

L

2
3.
4

®

Question Number : 40 Question Id : 2549898082 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

frufeRad o @ &1 I geATg, MS Excel B QR U8 & 91¢ & 01 & daie & TG HH 7 82
Options :

1. ¥ Click the chart > Move chart > Chart Design > New Sheet > Save > Print

2. # Chart Design > Click the chart > Move chart > New Sheet > Save > Print

3. %" Click the chart > Chart Design > Move chart > New Sheet > Save > Print

4. ® Chart Design > Move chart > New Sheet > Print > Save

Question Number : 41 Question Id : 2549898097 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Which of the following charts generally looks like a spider net?
Options :

1. % Radar chart

2. # Line chart

3. # Scatter chart

4. # Bar chart

Question Number : 41 Question Id : 2549898097 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

fafifad & 19 a1 a1é 3 IR W Ahe! F SId o feTdr 82
Options :

1. % TBRATE

2. # ARA A

3. % Whex AIC

4. % IR AT

Question Number : 42 Question Id : 25498910473 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

In MS Word, makes the first letter of each word a capital letter.
Options :

1. # lowercase

2. %" Capitalise Each Word

3. # Sentence case

4. # tOGGLE case
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Question Number : 42 Question Id : 25498910473 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

MS Word H, TP Tec b TS 31&R I 98T &R F1d1 8|

Question Number : 43 Question Id : 25498910521 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The below dialogue box will appear to:

p———
Pt T
wE sy T pat
Frl me by sy Lraery ] 2L bisa ederns ey e
fl ey T el amri 2By ke
Byl i et il el
..... i i radl Py g fad e Py
il i > 1
e Tmgl
s ! T 1
T Ty d
Psakink
e
=
T e A Fied Fin] mm
S fetesm 1 i
Options :

1. ¥ print a document
2. %" customise the paper size
3. # customise the page margins

4. % change the page orientation

Question Number : 43 Question Id : 25498910521 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1 fear man S Steg ¥ forg s Sl
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E T pH I
PaLd by ity Wt 3'.:'.'.['."]".":.:_:'_'3:'..'1

L
il vl iy ok
Bl sl P e el
ki sl P dinl i
[ (T
I =t}
Ty ! T
Toag d Ty d
Plrskinie
ey
=
Ippy e Wl oo mres Fir? Mlaf =s
Soldn Eeteen | o Zinow
Options :

1. % T q¥aTal file &

2. o BT & HHR Bl HIHICTd DA
3. % UG AT & HecHS B

4. % U 3R Fea

Question Number : 44 Question Id : 25498910586 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In MS Word, there are four types of indents: Left Indent, Right Indent, and Hanging Indent.
Options :

1. % First line indent

2. % Second line indent

3. # Last line indent

4. ® Beginning line indent

Question Number : 44 Question Id : 25498910586 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Wordﬁ,ﬂW%é@?%z ETCITE@?, E"I'CITE@?, — GﬁT%ﬁT{g%_crl
Options :

1. % UYT ATZ4 $S¢ (First line indent)

2. | M RIES] 333 (Second line indent)

3. % ffdH Az 8¢ (Last line indent)

4. % R AT 8¢ (Beginning line indent)

Question Number : 45 Question Id : 25498910631 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In MS Word, what is the default number of lines to drop for drop cap?
Options :

1. ®20

2. %10

3. %15

4. %3

20/41



11/11/2022, 09:59

Question Number : 45 Question Id : 25498910631 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word H, 31T &1 & forg S0 3 131 o) fSthiee Tvedm o 82
Options :

1. %20
2. %10
3. #% 15
4. %3

1\'.

Question Number : 46 Question Id : 25498910693 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What does the navigation pane help in MS Word 2016?

Options :

1. # You can increase/decrease the font size of texts.

2. # You can translate you text from one language to another language.
3. %" You can go to a page or a heading in a document without scrolling.

4. % You can know the meaning of your content.

Question Number : 46 Question Id : 25498910693 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word 2016 &, A3 O o1 TgTIdT Hal 82

Options :

|, % 3{Y TR P Bl 3ATHR b 9¢1/ UeT Jbd g |

2. % 1Y 3T UTS U I 37 U1 H SaTfed o ghd & |

3. 3Y Siagdic | feh fafkiy gy a1 =fives W famm woife fand o vad ¢ |
4. % 319 3Ot IrTft o1 31 S b

Question Number : 47 Question Id : 25498911466 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
URL stands for:

Options :

1. % Uniform Resource Locator

2. # Uniform Resource Longitude

3. # Uniform Resource Langitude

4. ® Unifrom Regional Locator

Question Number : 47 Question Id : 25498911466 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
URL &1 T FY 1 87

Options :

1. % Uniform Resource Locator

2. ® Uniform Resource Longitude

3. % Uniform Resource Langitude

4. # Unifrom Regional Locator

Question Number : 48 Question Id : 25498913310 Question Type : MCQ Option Shuffling : Yes Display Question Number :
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Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
are useful for quickly creating unweighted cross tabulations.
Options :
1. % Macros
2. # Charts
3. % Functions
4. % PivotTables

Question Number : 48 Question Id : 25498913310 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Sl ¥ HUid wra aRufteRu (unweighted cross tabulations) RIS forg ITRT % |
Options :
1. ® Hoplel
2. % Y

3. # har=g

4. fuge qfereTy

Question Number : 49 Question Id : 25498913315 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

By default, a PivotTable any text field.
Options :

1. % sums

2. %" counts

3. = averages

4. # copies

Question Number : 49 Question Id : 25498913315 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SWice ¥ 4, T fUge difere! [hdl TRe Wi dI/dl |
Options :

1. # Gﬁ@?ﬂ %’ (sums)

2. % U] bl % (counts)

3. ® mﬁﬁm% (averages)

4. % gfafef ear % (copies)

Question Number : 50 Question Id : 25498918953 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
How to hide the selected text in MS Word?
Options :

1. ¥ CTRL+SHIFT+F

2. # CTRLASHIFT+E

3. %" CTRL+SHIFT+H

4. % CTRL+SHIFT+D

Question Number : 50 Question Id : 25498918953 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
MS Word H T01-d CoRe &1 ol f5uTd 82
Options :
1. % CTRL+SHIFT+F
2. % CTRL+SHIFT+E
3. % CTRL+SHIFT+H
4. ® CTRL+SHIFT+D

Question Number : 51 Question Id : 25498932156 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Video conferencing requires two way communication between
Options :

1. # audio and video

2. % receivers and senders

3. # pixels to packets

4. = pixels to frames

Question Number : 51 Question Id : 25498932156 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SN HHRAT & §i SR YOR TGS g 3|
Options :

1. ® 3fffear ofR difsar

2. o UTadhal (REtaR) 3R Ives ()

3. # fUea 9 Uohe

4. % USRI BH

Question Number : 52 Question Id : 25498934470 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following streaming is also called progressive download?
Options :

1. & Offline

2. # On demand

3. %" Live

4. ¥ Online

Question Number : 52 Question Id : 25498934470 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
fofaRad o 3 &1 @ i iRE seaars o seard 82
Options :

1. % 3ffharg

2. % 311 ferre

3. w ¢lled

4. % 3{iTcrsA

READING COMPREHENSION
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Section Id : 2549896823
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 1

Number of Questions to be attempted : 1

Section Marks : 5

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Response :  Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549896864
Question Shuffling Allowed : Yes

Question Id : 25498921073 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Question Numbers : (53 to 57)

fu 7T MR B U 3R ISP 3NYR W g Ui b IR

S-S et TRt S &, 3 3rofifaesT 3 e IR 3nf3rd o ot ot ShiaiRielt +ft sgard saam o) 2 1 a8 uRad=
FS ANl & fore sreran o grar |

YRd & RG] IR UoId ST & S U=Td BT SYfcd Bl & 3R Hl ST B TRTHIT SR UFA=IT U 61 o R
&1 it SR (87 U A Rt IR Aeifiies oot & U el §U) a7 Ui © fob Srafist W anfyd T8 ardl sitary +f
T I T M ¥ d-5d Jhd g | 37 SHaru[af & TReam JRIET WR ¥ S ¥ goIR AT 34 & |

B Glb 3 S dl TET & Qb1 e I 3R =it Faish o} e # WY g 21 %E R, Wi 31 Wg, el Hf ot 3
et 3 IR 99 gU T | IS et & o S St S Ut oiR diferar o7 R Ui ot €1 8 71 37 B ey $fR
Tiat & ot A et T o for ST 8 SR 39T SuHT A Ugd 39 S a1 9+t Tt o Srar g1

JATE 1996 H, AeA U= H fafe=n =eR & ur o omyfd & fa=i & forg e &t 718 oft oifes ot = Saar et B BRI TR g%
TSRl B aRd §U ST UT| T &1 U1 81 Sb UTeTd 1 UhHT Aid oT| 3R I9H § aral Haferat 7t g8 uet 2|

1970 % TP H 3RT 3R STTRISIG & sid FHAT b PR 570 H 311 7ifa | Afdh 31y e g1 i ol & 39 erra R
O U S aTdl I3 19 &8 ab | I8! U 1 AT H HHT 3118 § 3R I8 I TRe UGN o | I8 A SR WIsfoel-Ra=i Fe
R, HRa A R a1 RRETS AoigR & U | 31a U+ 3HTofifdest Ham ||

Sub questions

Question Number : 53 Question Id : 25498921074 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
o1 o1 I Re G A
Options :

1. o TR Afeat

. B 91 BI ggdl gHS

. & S Sfd el

. & TR weferdi

RS I\

Question Number : 54 Question Id : 25498921075 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
fFafiiad & 3 o1 T Wy 9w gl 82

Options :
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1. = giferan

2. W Q-ﬂ@

3. ¥ T e T
4. % ORI

-

Question Number : 55 Question Id : 25498921076 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TS SER @ B A §g el gl
Options :

1. % 7 IR SR it Uzt A

2. # FRT 3R FTETENE b i< &b & A

3. % fafeen 2er

4.+ el & fbIR 99 T H

Question Number : 56 Question Id : 25498921077 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

3T el B8 THAT A4] H HSell Udhe P A1d X1AG ol HH o, Rl |
Options :

1. ﬁﬁmmﬁ%

2. % UM H ol woford! ot gg gl 7T &t

3. % UM &1 MYl Aep &t 15 o

4, % JEIAMAGEES &

Question Number : 57 Question Id : 25498921078 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

B AT o AT AT G3AT S SUAT STl HHM & [0 AS ! Gahed A2
Options :

1. # 3 Uiferar g1 |

2. % 3 @I I & fafrcde a9 |

3. o 3B TSN HHMH & 3 Te 30T forg|

4. ® YL U HEA |

Question Id : 25498921073 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Question Numbers : (53 to 57)

Read the given passage and answer the questions that follow.

As the rivers die away, millions of people who depend on them for their livelihood are finding that their way of life is changing.
Worse, some of them are even finding that their lives are in danger.

India’s thirteen river basins make up eighty per cent of the total surface water and are home to nearly eighty five per cent of the
population. All of these basins are so polluted (mainly in stretches near towns and industrial belts) that only the bacteria that feeds on
waste has multiplied in these waters. The count of this bacteria is anywhere between twenty times to one thousand times above safe
levels.

There are no exact figures but skin diseases and skin specialists are growing in number, especially in towns that are along these
rivers. Polluted water is also the reason behind waterborne diseases like dysentery and jaundice in small towns. In these small towns

and villages water is taken directly from the rivers and not treated or cleaned before it is consumed.

In July 1996, water supply to the town of Vidisha in Madhya Pradesh was stopped for two days because people saw thousands of
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dead fish floating on the Betwa river. The river was their only source of drinking water. Millions of fish had died in the river.

In the 1970s there were more than 570 villages along the Yamuna, between Agra and Allahabad. But you can rarely see a fishing
boat along this stretch of water. The amount of water here has decreased and is completely polluted. These fishermen now earn their
living by driving cycle-rickshaws, begging or working as daily labourers.

Sub questions

Question Number : 53 Question Id : 25498921074 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The passage is about

Options :

1. % dying rivers

2. # growing skin problems

3. % water borne diseases

4. # dying fish

Question Number : 54 Question Id : 25498921075 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Which of the following is NOT a health problem?
Options :

1. ¥ Jaundice

2. % Begging

3. # Skin disease

4. % Dysentery

Question Number : 55 Question Id : 25498921076 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
According to the passage, skin problems are increasing in
Options :

1. #= river basins and industrial belts

¥

the villages between Agra and Allahabad
the town of Vidisha

¥

2.
3.
4. % the towns along the rivers

Question Number : 56 Question Id : 25498921077 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

We hardly see a fishing boat in the Yamuna these days because
Options :

1. % the water is terribly polluted

2. # millions of fish died in the water

3. # the supply of water was stopped

4. #= skin diseases have grown

Question Number : 57 Question Id : 25498921078 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What happened to the people who used to catch fish to earn their living?
Options :

1. % They have been diagnosed with jaundice.

2. # They have become skin doctors.
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3. % They have taken up other means of living.
4. ¥ They live in Madhya Pradesh.

QUANTITATIVE APTITUDE

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Display Number Panel :

Enable Mark as Answered Mark for Review and Clear Response :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

2549896824
3

Online
Mandatory
6

6

6

Yes

Yes

0

1
2549896865
Yes

Question Number : 58 Question Id : 25498914307 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks :

What approximate value will come in place of question mark (?) in the following question?

(You are not required to calculate the exact value)

30.06% of 499 + 39.99% of 799 =?
Options :
1. %420
2. # 380
3. # 440
4. %470

Question Number : 58 Question Id : 25498914307 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

frafafam wom & w37 FEw (7) & BIE W 3EAiag 39 07 §i97 SE0? (H9E TS Je

IO FET FTAT £

428 =1 30.06% + 799 &7 39.99% = 7

Options :
% 420

). = 380
3 % 440

4. 470

Question Number : 59 Question Id : 25498928898 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0

What value will come in place of gquestion mark (7] in the following question?

V250047 % (245 = 35) = (7)2
Options :

1. 18

2 19

3w 21

4, ®23

B B

&

Question Number : 59 Question Id : 25498928898 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

e oy # oy 8 (7)) F T R o5 W 3= amoie

VIEDD4T % (245 & 35) = (7)3
Options :

1. 18

19

21

23

B B

&

2
3.
4

&

Question Number : 60 Question Id : 25498928964 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
What approximate value will come in place of question mark (7) i the following question?

{Wou are oot required fo caleulate the exact value)

¥ 1000000000001 =7
Options :

1. % 1000

100

1001

10000

B E B

2
3.
4

Question Number : 60 Question Id : 25498928964 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
ErTET w7 W [E (7) & T 9 SR Al ST g WE? (39! HEle J
ACTAT FET w21}

Options :
1.« 1000

2. % 100

3. % 1001

28/41



11/11/2022, 09:59

4, % 10000

Question Number : 61 Question Id : 25498928981 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

When a person travels equal distances at speeds vy and 1v. kb, his average speed s @ km'h, When he travels at
these speeds for equal rimes, then his average speed is 12 kb, The value of v, — v, is:

Options :

1. 59

2. %10

3.9 12

4, ® 15

Question Number : 61 Question Id : 25498928981 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ol| g A v, A p, kmih B A@ S WA gRE T Fal §, O 39S AT 916 9 kmih Tl
2| O aF T 97 & 00 5 9 ¥ O Sl ¢, dl 39l ST 919 12 kmh 8 96T 2
lv, — vy| @ HF I FHfog)

Options :
1. ®9
2. %10
3.9 12
4, ® 15

Question Number : 62 Question Id : 25498929470 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
.
If x* + Bxr — 1 = 0, then the value of x — — is:

¥
Options :

1. % 536

2. #4388

3. ® 488

4. # 536

Question Number : 62 Question Id : 25498929470 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

o 2+ 8x—1=0 ¥ dr3—L =0 Eer T gher?
T

Options :
1. % =536
2. # —488
3. # 488
4. ® 536

Question Number : 63 Question Id : 25498929546 Question Type : MCQ Option Shuffling : Yes Display Question Number :
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Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the following question, a number series is given. Identify the INCORRECT number in the series.

45,15,6,3,2,1,4
Options :

1. %15

2.%3

3.%2

4.4 1

Question Number : 63 Question Id : 25498929546 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fafeRad vy o Ue TRem Sae < 1S 81 39 | § Ted WReAT B UgdH Bifore |

45,15,6,3,2,1,4
Options :

1. %15

2. %3

3.8 2

4. % 1

GENERAL MENTAL ABILITY AND REASONING

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Display Number Panel :

Enable Mark as Answered Mark for Review and Clear Response :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Question Number : 64 Question Id : 25498912863 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2549896825
4

Online
Mandatory
6

6

6

Yes

Yes

0

1
2549896866
Yes

12 U 7T o7 fI=amg 1 3¢ BT 3R ISP YR TR U DT IR ST

YW@1&CN3PLB91=D*E2£MVS$T7#4FGS5

I Trefiep! W IR TS 31 aTelt B3t & T A Y SR[AT B [T o §, Y 39 YR 1 gt Temaft & Al o1 ant

ERIN DI
Options :
1. #22
2. %26
3. ® 36
4. % 38
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Question Number : 64 Question Id : 25498912863 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Study the given arrangement and answer the question that follows.

YW@!1&CN3PLB91=D*E2£MVS$7#4FG5

If the numbers immediately preceding the symbols are attached the value double their numerical value, then what will be the sum of
the values of all such numbers?

Options :
1. %22
2. ® 26
3. ® 36
4. % 38

Question Number : 65 Question Id : 25498912874 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

&0 T Teg H 31&RT & U foe g 8, O O Td® & ofta I o1 31aR § Fora Sidislt quraTan # 3% o4 82

GLAMOUR
Options :

1. %]
2. ¥ UD
3. %G

4. ®dH

Question Number : 65 Question Id : 25498912874 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Find out how many such pairs of letters are there in the given word each of which has as many letters between them in the word as in
the English alphabet.

GLAMOUR
Options :
1. % Nil
2. % One
3. &= Two
4. *® Three

Question Number : 66 Question Id : 25498918988 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fAafeRad Teq-gml § 1T 11 & RIM WR 3 dTd 3FU sl b1 99 1 74T 11 H faT T eal H Y PR IUGed fadbed Bl
T DI

I:\HTW::Q@:H

L (1) U (2) 9 (3) UG (4) T

IL (A) SR (B) gaT (C) HRH (D) Ty
Options :

1. % 1B

2. % 1D
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3. W 2A
4. ®3C

Question Number : 66 Question Id : 25498918988 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
In the following pair, find two words related to the words already given — one word for each of two related pairs.

I: Modern :: Old : II

L. (1) Ancient (2) Death (3) Famous (4) Civilisation

II. (A) Industrialisation (B) Young (C) Fashion (D) Western
Options :

1. % 1B

2. % 1D

3. ®2A

4. ®3C

Question Number : 67 Question Id : 25498919739 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fRoferRad siids! BT 3ieaa B 3R U BT IR <
qrTfores fagm, TiOT SR fas & o &7 aTat 450 TR & sfids =i few MU §:

it fawat o Shtof 167
ot fawa o Sgeiiol 60
T fA H Sfitol 175

TioTd o Sfiol 199
fasT & sreitol 191
Had ATHIID [ART SThof 62
Had o o 3ol 48
had fasH | Il 52

had gt AR H fa adigmdf srgeiiol gu
Options :

1. %15

2. ®21

3. %30

4. % 42

Question Number : 67 Question Id : 25498919739 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Stady the given data and answer the question that fallovyes,

Drata oo 450 candidares. who took an examination in Social Science, Mathematics and Science iz given below,

FPassad in all the la?

subjects

Failed i all the Gl

subjects

Failed in social science | 175

Failed in mathematics | tH

Failed in science 1oL

Passed in zocial &2
Erience onlv

Paszsed in mathematics | 43

only

Paszsed in science only | 52

How many failed in Social Science only?
Options :

1. %15

2. %21

3. %30

4. ® 42

Question Number : 68 Question Id : 25498919816 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
o fAfdd g uw A afe:

P@Q HIIF QI AP B,
P$Q’ BT 3 «Q HT U P &;
PHQ BT QBTGP &;
P*+Q HT I QB TAP B

I Fr*TSR@L ®, At Fafafed o @ o1 fAfya T u 3 Ot 82
Options :

| % JPIUELE

2. ¥ LDITEIFS

3. % JPIHSFS

4 BLPIHUSFE

Question Number : 68 Question Id : 25498919816 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In a certain code language,

‘P@Q’ means ‘P is the mother of Q’;
‘P$Q’ means ‘P is the husband of Q’;
‘P#Q’ means ‘P is the sister of Q’;
‘P*Q’ means ‘P is the son of Q.

If FAI*TSR@L, then which of the following is definitely true?
Options :

1. # L is brother of J

2. % F is sister of L

3. % F is brother of J
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4. # F is brother of L

Question Number : 69 Question Id : 25498927900 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

39 fqered o1 997 HifoTd off TR Vg F ST THR Tafid § o THR gIRT Weg Ugd Vg I Yafd g |

W:m::ﬁ‘\’nﬁ-ﬁ:?
Options :

1. # =M

2. % 3Ugad

3. % diar

4, % 7]

Question Number : 69 Question Id : 25498927900 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the option that is related to the third word in the same way as the second word is related to the first word.

Elegance : Vulgarity :: Graceful : ?
Options :

1. % Awkward

2. # Comely

3. % Asperous

4. # Dirty

GENERAL AWARENESS
Section Id : 2549896826
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response :  Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549896867
Question Shuffling Allowed : Yes

Question Number : 70 Question Id : 2549899820 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Consider the given viceroys of India during the British rule.

1. Lord Curzon

2. Lord Chelmsford
3. Lord Hardinge

4. Lord Irwin

Select the option that gives the correct chronological order of their tenures.
Options :

34/41



11/11/2022, 09:59
1. % 1-3-2-4
2. % 2.4-13
3. % 1-4-2-3
4, % 23-1-4

Question Number : 70 Question Id : 2549899820 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fofesr I & SRM YR & IR & 9 g8 T MU 8, S9WR foaR 3|

1. AlS Hoi

2. dle ARIBIS

3. dls gifeT

4, AlS e

frafeiaa # § o1 91 578 SIS BT TG BIATIHH 82
Options :

1. % 1-3-2-4

2. #2413

3. % 1-4-2-3

4, %2314

Question Number : 71 Question Id : 25498912763 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In which of the following games/sports does Susi Susanti hold the Grand Slam title?
Options :

1. ¥ Lawn tennis

2. % Badminton

3. # Volleyball

4. % Table tennis

Question Number : 71 Question Id : 25498912763 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

=it gt A o o 9 frg wagyf § e wom Raam st am
Options :

1. % dH Y

2. ¥ S8fiea

3. & aiciard

4, % Tgq ey

Question Number : 72 Question Id : 25498932052 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Pablo Picasso, the famous painter, was:
Options :

1. # French

2. # Jtalian

3. # Flemish

4. % Spanish
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Question Number : 72 Question Id : 25498932052 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
TReTd AdR Ued! U 9
Options :

1. % DRIt

2. % gdrerat

3. & TRIT

4. & WA

Question Number : 73 Question Id : 25498932502 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

‘Everything else can wait, but not agriculture.” The given statement is attributed to:
Options :

1. # Jagjivan Ram

2. % Jawaharlal Nehru

3. ¥ Mahatma Gandhi

4. = Sardar Patel

Question Number : 73 Question Id : 25498932502 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TR T Teitel R bl 7, foeg P AV, 39 HU= H1 9 forran! fa Siran g2
Options :

1. # SITSITa IH

2. & STATeR AT Ag®

3. % TgTe it

4. % ERUCH

Question Number : 74 Question Id : 25498932506 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Where is the Central Food Technological Research Institute (CFTRI) situated?
Options :

1. # Bengaluru

2. # Karnal

3. % Mysuru

4. # Lucknow

Question Number : 74 Question Id : 25498932506 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Sl e Mt AT YR (CFTRI) Fgl IR Ry g2
Options :

1. ® dTIe

2. & HANT

3. % TR

4. B U1
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Question Number : 75 Question Id : 25498932590 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following subjects comes under the common jurisdiction of the Supreme Court and the High Courts?
Options :

1. ¥ Mutual disputes among states

2. # Disputes between the Centre and state(s)

3. % Protection of the Fundamental Rights

4. # Protection from the violation of the Constitution

Question Number : 75 Question Id : 25498932590 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

U 9 DIF A1 v I=a AraTad SR S <ARITer a1 & AT &5 B SMTdT 82
Options :

1. % Y] & oI YRR fdarg

2. % $g 3R I (@) & & faarg

3. o A UDHRI BT A&

4. % FfAu™ & Icetg Y WREUT

English Mock
Group Number : 2
Group Id : 2549894337
Group Maximum Duration : 5
Group Minimum Duration : 5
Show Attended Group? : No
Edit Attended Group? : No
Break time : 1
Mandatory Break time : Yes
Group Marks : 0
Is this Group for Examiner? : No
Examiner permission : Cant View
Show Progress Bar? : No
English Mock
Section Id : 2549896827
Section Number : 1
Section type : Typing Test
Mandatory or Optional : Mandatory
Number of Questions : 1
Number of Questions to be attempted : 1
Section Marks : 0
Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Response :  Yes

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549896868
Question Shuffling Allowed : No
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Question Number : 76 Question Id : 25498940809 Question Type : TYPING TEST Display Question Number : Yes Calculator
: None

Summer camps are supervised camps conducted to entertain as well as equip students with various life skills such as
teamwork, socializing, decision making, independent and responsible living and more. It aids the overall development of a
child and children have fun during this process as they get to explore new arenas.

Restricted/ Unrestricted : Unrestricted
Paragraph Display : Yes

Keyboard Layout : Inscript

Show Details Panel : Yes
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The best way to fight liver disease is to avoid it. Here are some tried and true ways to achieve liver wellness. Maintain a
healthy weight. If you are fat or even somewhat overweight, you are in danger of having a fatty liver that can lead to
nonalcoholic fatty liver disease, one of the fastest growing forms of liver disease. Weight loss can play an important part in
helping to reduce liver fat. Eat a balanced diet. Avoid high calorie meals. Do not eat raw or under cooked shellfish. For a well
adjusted diet, eat fiber which you can obtain from fresh fruits and vegetables and whole grain breads and also from rice and
cereals. Also eat meat but limit the amount of red meat, dairy like low fat milk and small amounts of cheese and fats that are
monounsaturated and polyunsaturated such as vegetable oils, nuts, seeds, and fish. Hydration is essential that is why drink a
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lot of water. Exercise regularly. When you exercise consistently it helps to burn triglycerides for fuel and can also reduce liver
fat. Avoid toxins. Toxins can injure liver cells. Limit direct contact with toxins from cleaning and aerosol products and
insecticides and chemicals and additives. Make sure the room is ventilated and wear a mask when utilizing aerosols. Do not
smoke. Use alcohol responsibly. Alcoholic beverages can create many health problems. They can damage or destroy liver cells
and scar your liver. Talk to your doctor about what amount of alcohol is right for you. You may be advised to drink alcohol
only in moderation or to quit completely. Avoid the use of illicit drugs. In year, nearly million Americans aged twelve or older
were current illicit drug users that means they had used an illicit drug during the month prior to the survey interview. This
estimate represents nine percent of the population aged twelve or older. Illicit drugs include marijuana or hashish, cocaine
including crack, heroin, hallucinogens, inhalants, or prescription type psychotherapeutics that is used non medically. Avoid
infected needles. Of course, dirty needles are not only associated with intravenous drug use. You tend to discuss with a
medical practitioner and seek testing following any type of skin penetration involving sharp instruments or needles. Unsafe
injection practices may occur in a hospital setting and would need immediate follow up. Also, use only clean needles for
tattoos and body piercings. Get medical care if you are unprotected to blood. If for any reason you come into contact with
someone else blood, immediately follow up with your doctor. If you are very concerned then go to your nearest hospital. Do
not share personal hygiene items. For example, razors and nail clippers can carry microscopic levels of blood or other body
fluids that may be contaminated. Get vaccinated. There are vaccines for hepatitis A and hepatitis B. Unfortunately, there is
no vaccine against the hepatitis C virus. So these were the top ways that will help you to make your liver healthy.
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